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0 0 1 0 0
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0 0 0 0 0
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THRET(KF)a—F {TERET (K=F)4% 1000k AOFt

10 HHHET 0 155
20 & d-HT 0 184
30 @7 1 227
40 SRET 0 121
50 KET—T B 0 320
60 KET=TH 1 222
70 RET=TH 0 345
80 ¥ATIHET 0 33
90 FEHNIT I ET 1 209
100 dt D HLET 0 137
110 T HT 0 1343
120 ¥A;TAHT 1 254
130 #&FHT 0 397
140 EAERT 0 11
150 & FFrHET 0 336
9999 K IFHXET 4 4294
510 RETIHT B 1 435
520 HEEEHT 0 161
530 /\T&HET 1 255
540 15 = HT 0 443
550 FithET 1 371
560 =ZEMT 0 69
570 EEHT 0 68
580 ¥TEAHET 0 136
590 ¥ ;EHT 0 67
600 ZERET 1 682
610 FHT 0 168
620 ¥EET—TH 0 0
9999 /\ & X5t 4 2855
1010 3 A HT 0 217
1020 £ FHT 0 363
1030 & A HT 0 343
1040 74 FrHT 0 556
1050 & FHHET 1 672
1060 F _EHT 1 548
1070 #y[RHET 0 670
1080 &= FHHET 0 442
1090 HEHT 1 697
1100 £ BHEHT 1 596
1110 {2 1EHT 0 156
1120 $21E JTHT 1 79
1130 +4&HT 0 27
1140 FkJRHET 0 16
1150 F/RET—T B 1 224
1160 F/RETZT B 0 249
1170 ;&/KHET 0 176
1180 EE&FLHET 2 244
1190 #&FAHT 0 192
1200 XFHEI—TH 0 141
1210 XFHEIZTH 0 174
1220 $HET 0 158
1230 %KHET 0 174
1240 B EHT 0 125
1250 fEEHET 0 141
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1260 JEHR & 1 42
1270 = EHT 1 115
1280 FRAHET 0 152
1290 £RHT 2 180
1300 & ZEHRT 0 137
1310 RJLHT 1 90
9999 XH X ET 13 8096
1510 HE#_E BT 0 824
1520 }EHI T HET 0 773
1530 HEHNTHT 0 338
1540 K{23FHT 0 586
9999 HEMMRE X ET 0 2521
2010 = S5 T 0 199
2020 % &7l 0 310
2030 ;AT 0 20
2040 ;HET—T B 2 219
2050 ;ET=T H 0 222
2060 Hg1F 0 50
2070 +RET—TH 0 267
2080 FXET=TH 0 210
2090 AT 0 1899
2100 fhiLHET 0 274
2110 }EWETET—T B 0 259
2120 HEMIETETZT B 0 295
9999 ZERXET 2 4224
2510 #AUEET 2 2335
2520 sk EEHT 2 1482
2530 = /NRHET 0 388
2540 FHi5HT 0 477
2550 ;HHET 1 265
2560 = SHT 1 1014
2570 KEHT 0 96
9999 MERXET 6 6057
3010 K#THT 0 1058
3020 ;T HT 1 1018
3030 L EFHT 1 874
3040 B LHET 1 145
3050 BT 2 2269
3060 B THT 1 518
3070 THESEHT 0 534
3080 HHHHT 0 511
3090 HHEHT 0 479
3100 HhFaHET 0 522
3110 EHAILHET 1 484
9999 /\FiE& X &t 7 8412
3510 2R LHT 0 203
3520 R chf 1 403
3530 2R THT 1 1059
3540 &= B KHT 1 430
3550 AETHT 0 868
3560 = T ERAT 0 309
3570 = T FaMT 0 852
3580 FLIFTHT 0 532
3590 EHT 0 16



XH24. 7 9F RERBIREZD—ERIEIZKYSNEANEZEHT-AO
(H31.2.283R7E J4TBUET 4 (K=F) Al & &4 A A O (&)
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9999 S HKXET 3 4672
4010 41| BT 0 345
4020 {ESHT 1 93
4030 5HT 1 260
4040 = HEAHT 1 261
4050 7K /T 1 531
4060 ES & HHET 1 412
4070 Jt/RHET 1 209
4080 =;I;HAMT 0 252
4090 FRERHT 0 343
4100 B FEFNHET 0 146
4110 Jt FFET 0 186
9999 &M X5 6 3038
4510 AREE—ZHT 0 777
4520 EREE — ZEHT 1 209
4530 EREE=FEHT 0 207
4540 EREEIUZEHET 0 164
4550 EREE L FHT 0 120
4560 EREE/NEEHET 0 100
4570 EREE-HFHET 0 176
4580 EREE)\ZHET 0 103
4590 EREE N FEHT 0 173
4600 EREE-+ZEHET 0 219
4610 EREE+—ZFHET 0 265
4620 AR+ —ZBHET 0 369
9999 FRERXET 1 2882
5010 FAFNH HEHT 0 247
5020 HAF0BAEMET 0 233
5030 FRFNRI{ZHT 0 267
9999 MAFIRXET 0 747
5510 b R HET 1 236
5520 = HhHET 0 672
5530 FA= HT 1 522
5540 MY 0 286
5550 EEHT 0 70
9999 =R X 5t 2 1786
6010 [EIAT/ME& 0 110
6020 [z ET 5 0 127
6030 [EET & JII 0 107
6040 EiZEFHET 0 231
6050 JI|AMBTE 0 165
6060 JI|EHATFE 2 133
9999 REERXET 2 873
6510 B & AHBHET 0 27
6520 HZEAKIEHET 0 222
6530 HE AFTHHET 1 103
6540 HZEAILTHT 0 201
6550 B =AM Z NHET 0 107
6560 HRAIEILHT 0 146
6570 B E ALERIHET 1 158
6580 H&EAEHT 0 95
6590 HZE ATKHET 1 62
6600 B &= AHHT 0 90
6610 HEA L FGHT 0 50
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6620 HZE A FGHET 0 58
6630 HZEA T AT 0 98
6640 B & A EiHlT 0 35
6650 B &= ASRHT 0 2
6660 H Z A RLHET 0 33
9999 HEAKKET 3 1487
7010 — &M O ET 0 181
7020 — R AHT 0 258
7030 — R FRHAMT 1 114
7040 — R T KEFHET 1 230
7050 — R ¥7 H I HET 0 125
9999 — R&XEtT 2 908
8011 YRAHETFEERLY 0 72
8012 YR AHTFEERA 0 150
8013 JRAHRTFAERIL 0 85
8021 HRAHTZEKLY 0 87
8022 IR AHTIEKA 0 4
8023 R AHETEKIE 0 10
8031 FRAETH ALY 1 189
8032 JABTHAA 0 12
8033 IRAHTH AL 0 16
8041 IR AHTELIFZL 0 63
8042 IR AHTELIRA 1 30
8043 R AHET LRI 0 19
8044 M ARETHLIFIZ 0 33
8045 IR ABTELIF T 0 52
8050 IR AHT IR A 0 175
8060 IR AHTFT# 0 146
8070 JRAHBTER 0 151
8080 Ir AHT &k 0 62
8090 IR AHTHEE 0 48
8100 JRAHETH /1% 0 25
8110 IRAHT I 5k 0 57
8120 IR AHTEE"S 1 100
8130 JRAHTH L 0 96
8140 IRABTEERT 0 143
8150 IRAHTHFK L 0 90
9999 AKX ET 3 1915
9010 FTHTAKEH 3 666
9020 FTHTEFER 0 413
9030 FTHTH &£ H 2 1251
9040 F+THTHEH 2 1495
9999 FTH#XEt 7 3825
9110 SERT T HIE 0 602
9120 $EETH L 0 299
9130 $EHTH & 0 151
9140 SERT T4 0 469
9150 $EET L 55 1 542
9160 SEETERHT 2 822
9170 $RATNEA 1 1006
9180 #RHTERE 0 669
9190 $EHTZ O 0 248
9200 FEHETEFIF 1 238
9210 $RAT = H 0 417
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9220 $RHTHE H 3 652
9230 ST B M 0 721
9240 SEETIE K 0 284
9250 FEETALHith 0 707
9999 R X &t 8 7827
9310 E[FZHETANR 0 223
9320 EFHATIL 0 262
9330 FR[ZHET/INE 0 167
9340 R [ZHTRY 3 444
9999 RFHXET 3 1096
9410 RETT & 1 418
9420 RHETHHE 0 227
9430 RETERK 0 157
9440 RETAEF 0 11
9450 RETHEIR 0 21
9460 RET{—_HE 0 32
9470 RETER 0 7
9480 RHETHEAR 0 59
9999 RIXXET 1 932
99999 &t 77 68447



